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The “Project Logic Model” works by you starting at the bottom and working up.

1. Inthefirst box, identify the target audience 4. Inthetransition, identify the outputs
2. Inthesecond layer up, write three (or more) key needs 5. In thefifth layer up, write three (or more) sustainable outcomes
3. Inthethird layer up, identify the actions needed 6. Atthe top of the tree, identify the final project outcome

*See second page for project example.
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Final Empower to become independent & have a

PI’OJeCt ........................... betterfuture

Outcome

Sustainable Engage in local Secure stability Obtain stable

Outcomes “"°°°°""" community inthe U.K. employment
Teach English| |Educate local| |Get license to Get Teach work Provide

Outputs=s===1 language community stay in U.K. community skills career

housing training
/]\ I . I . | . . I .

Cannot speak Society No license No money for No work No

Needs eeeees English unwilling to to stay housing experience job

engage them in the U.K.

Problem Suffer social Risk of No sustainable

Statements isolation deportation income

Target ........................... Sex-trafficked women

Audience
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Above is a detailed example of the Enactus Project Logic Model showcasing an Enactus
project from the U.K. working with sex-trafficked women. After listing the target auidence, we
identified the problem statement and broke down the specific needs of the individuals, which
led us to our solution. Remember your model can be much larger or smaller than the provided
example. In order to achieve your goal you must set manageable tasks for team to complete.



